RD SHARMA
Solutions
Class 8 Maths

Chapter 1
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Q-1. Verify commutativity of addition of rational numbers for each of the following pairs of rational numbers.

@) ——and %

(i) 3 and =

(i) = and %

. 2 12
(lV) = and 5

(v) 4and -

(vi) -4 and =

Solution:

Commutativity of the addition of rational numbers means that if ab and cd are two rational numbers, then ab + c¢d = c¢d + ab.

(i) We have:

—11 4
-5 and 5

—11x7 4x5
5<7 7%5

=77 20

= — =

35 35

—77+20
35

—57
35

4%5 + =11x7
7x5 5x7

20T
35 and =3

20-77 _ =57

35 35

Hence, verified.

(ii) We have:

4 7
3 and -

So,

4 =7
CRRTY
4x4 T =73

9x4 12x3



]
+
ol

= T3, A4

Hence, Verified.

(ili) We have:

-3 -2
5 and 73

]
+
|

2-9 =7

15 1

w

Hence, verified.

(iv) We have:
2 12
= and ==
So,
-2 -12
-t 33
_2x5 12
S 35
_ -10 12
i
_-10-12
T35
_ 2
35
Now,
-12 -2
T and =
_ -2 -2x5
35 7<5
_-12 , -10
EE 35
_ —l12-10 _ 22
35 3

Hence, verified.

(v) We have:




Hence, verified.

(vi) We have:

—4 4
T

—4x7

]
|
+

—4-28 —-35

7 7

Hence, verified.

Q-2. Verify associativity of addition of the rational numbers i.e., (X +y) +z = X+ (y + z), when:

I IR I |
(i) X YT 3z 0
G 7 2 __3
(i) X == 7.y = 75,27 753

wx=-2,y=2,2z=-2

Solution:
We have to verify that:

x+y)tz=x+(y+2z)



P | _2 __
Hx= an_?az__

S eh

_(Iy_ 1

_(6) 5
735\ 1x7

=(53)-57

35 7
(55)—335
35-7

30

29
30

Now,
Li2z+2L
2 3773

1 245 |, —1%3
=3t =)

1 10, 3
=3t )

_1 10-3
_2+( 15

_ 1 7
_E-"_(E)

115 + 7x2

2x15 15x2

_ 15, 14
30+%

|
W
=] b=

Hence, verified.

) x= F.y=5.2=-

_ 2 4N _ 7
=(=+3)- 3

:(—2x3 A AN

5%3 3x5 10
=6, 20 7
=(FtE) %
- —6+20 )— L

15 10

14N _ 7

( 15 ) 10
_ l4><2_ 7x3

15%2 10x3
_8_ 21

30 30
_ 2821 _ 7

30 30
Now,

2 47
=G

(ddo _ 73
3x10 103

_ 2 40 _ 21
=5 1G5~ 5%)

40-21

=5 t(5

1
3

—
OI\]
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)
X
(=)}
—_
—_
o
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—12+19 7

30 30

Hence, verified.

e 7 2 __
(iii) x =— 5V =% .27 "5y
T 2, 3
ST

(L 2\_ 3

ERNT 5 22

(—7x5 L2 -2
1155 5511 22

=35 22 3
—(Z+2-

55 55 22
=( —35-22 )— 3
35 22
- (i) _3
55 22
_ 572 _ 3%5
3572 2255
_ -4 s
110 110
_-l4-1s _ -129
—1w0 10
Now,
T2
11 5 2
_ =7 —2x22  3%5
T 522 225
7 44 15
=7t w1
-7 —44-15
T +( 110
-7 -59
T +( 110
~7x10 -59
=0 =22
1110 ( 110 )
70 |, -59 _ —129

T 0 T T0 110

Hence, verified.

(vx=-2y=32=
3. 4
=(2+3)-3

_(— 3y _ 4
—(-2x5+3)-4

_-1043 \ _ 4
=( 3 ) 3
- 74

5 3

~7x3 45

5<3 3x5



(33 _ 5
=2+(55 ~ =)

Hence, verified.

Q-3. Write the additive inverse of each of the following rational numbers:

0 =
(i) =

(iii) =~
) =5

Solution:

(i) Additive inverse is the negative of the given number.

L -2 _ 2
So, additive inverse of - =1

(ii) Additive inverse is the negative of the given number.
So, additive inverse of —Lll = 13—1

(iii) Additive inverse is the negative of the given number.

e =17
So, additive inverse of - = 15—7

(iv) Additive inverse is the negative of the given number.

So, additive inverse of :—; = _—151

Q-4. Write the negative (additive inverse) of each of the following:

0=
(i) =%

(iii) =



) —
"o
wi)1
(vii) -1

Solution:

vl

(i) Additive inverse of 2= =

(ii) Additive inverse of - = 2

(iii) Additive inverse of 2 = 1%

(iv) Additive inverse of % = %
(v) Negative value of 0 is 0

(vi) Negative value of 1 is -1
(vii) Negative value of -1 is 1

Q-5. Using commutativity and associativity of addition of rational numbers, express each of the following as a rational number:

Solution:

(i) We have:

“GrH D)

=
3




_ 3-11 —4+7
-7 + 9
B

7 9
_ -89 3%7
) + %7
-2, 21
63 +63
_ -2l

63
=51 -17
T3 21

veey 2 8 -11 4 -2
(i) 3+ 5+ +T35+ 5

2,8 -1, 4, =2
R R Gl e

2+4 8-2 —11

18 , 30 , —l1
ISR

18+30 —11
15 + 15

48 —11

15 + 15

4811 _ 37
515

—13

. 4 —8 17
(lv)7+O+T+T+H

_ 4, -3y, -8 17
Gttty

7 9 21

_& 8,17

_ -9 , -8 17
-7 * 9 * 21

—9%9 | 87 4 173
7x9 9x7 21x3

_ 81 -56
) + 63 +

51
63

—81-56+51
63

Q-6. Re-arrange suitably and find the sum of each of the following:

o 11 -17 11 -25
O |
U T 2 2

o 6 =5 —4 -15
(i) =+ =+ 5+ —

L3 7,9, -3, T
(m)§+§+?+?+7
. 4 -5 —8 9
(lv)ﬁ+T+F+F
2 —4 1 2
R R

(vi) | Extra close brace or missing open brace

Solution:



o 11 —17 11 —25

1, 25 1o, -17
()t

_b2s g o
2 12 3
-4 11, -7
S5ttt

_ o l4x6 411, —174

256 E 3x4

_ —84+11-68 _ —141 _ —47
12 12 4
. —6 =5 4 -15
)=+t
6 -15 =5 —4
B R e
_ =615 | -5, —4
=t ts
=21 =5 -4
STt
_ —21x18 + —=5x21 + —4x14
7x18 621 9x14
_ 378 —105 —=56
T 126 + 126 + 126

_ —378-105-56 _ 539 _ -7

126 126 18

s 3 7 9 -13 —
(m)§+?+?+—15 + —

_(3 9 7 —13 =7
LI PR e el

349 +l+ —13
5 3 15

+ L
3

12
?-‘r

123 4

5x3

7
§+

—13

15

-7
t5

Tx5 + —13 + —7x5
3%5 15 3%5

36, 35 . —13 , =35 _ 36+35-13-35
STt T T

15

3 1 13 13
449-8 | -5 5 | —
i 5T

548 —5x13
33 313

_ 40 4 65 _ 4065 _ 25
104 ' 104 104 104

2 —4 1 2
Mst=F3ts

3

_(2 1 2 —4
=G E TS

2+1

=
3

w|w

3x5

3x5

+

24

5

-2
ts

—2x3
5x3



5T
156 _ 9 _3

15 5 5

1.5 .2, 7 .9, -5
(v1)§-‘r12-‘r7-‘:—12-‘:-7-i-F
1 5 7 2.9 -5
=l+(=+ D)+ (2+=2)+ =
3 (12 12) (7 7) 16
1 547 249 -5
_8+ 12 + 7 16
1,12 11, -5
st etTTw
_ 42 | 1228 | 1048 | 51
8<42 | 1228 7x48 16-21

42, 336
"3t

528

ke

—105
336



